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They are required to read it — Pk IR

OVERVIEW
The X713 cited a ruling in the name of "»°7 27 that the 77°0% 7Y must read the vi.
Our Moo1n discusses when the v should be read.

— 25515 1199959 115997 12T XIIN RY 111102 29WNRTI S9N 19N TP
We are discussing before the giving of the vi (that is when it needs to be read
according to "»°7 27), since the X713 shortly answers, ‘it was only necessary in a

case where after they read it they placed it in the folds of his garment, etc.
— *n9995 N9T 19590 INRMA NN 52U K97 D) 91 XYT DN 19999 RY IN)

However, if they did not read the 03 before it was given to the wife, it is the view
of oI that it is not a valid v, since the X did not answer, ‘we are

discussing here a case where they did not read it’ -
— DY NN NP RY INT yHUN

This indicates that if they did not read it she is not divorced.

nvoIn asks:
— 919 1N NPV NYNRD 921 WIRD V) 3N (3,9 91 PNTNA JIPY 1INT 9NN ON)

And if you will say; for we learnt in a 7w later in P21 279, ‘the 71910 wrote a
v for the husband (to give it to the wife) and a receipt for the woman (to give it
to her husband when he pays the 721n3), and the 71910 erred and he gave etc. (the va

to the woman and the 7212 to the husband) -
— AT A NEN THYND T 921U YWIND 315 HNHN N V) AT YN

And after a while they realized that the man is in possession of the vx and the

' The X3 shortly challenges the ruling of *»*7 27 from the Xn*2 of X7 0°00 Jww. If 7" is correct that the 07y are
required to read the v3 (before it is given), how can the husband claim afterwards that it was a 0°09 7w, since the ¥
77°0m had already read a proper 03. See following footnote # 2.
? The x> answered (see previous footnote # 1) that indeed 27 27 is correct, and the ™72 is discussing a case
where after the »"¥ read the v3 they placed it by the husband and afterwards he gave it to his wife, etc. This indicates
that the X3 assumes that 7" requires that the reading take place before the giving of the v3, because if there is a
requirement that it be read after the 71°n3, then there can be no issue of 7°7> 7°2% 9y and 7°5%n 0171, etc.
? This means she is not permitted to remarry (until the v is read).
* n90IN maintains that the ruling of 7" is even 72¥°72 it is not a v For if it is a 7272 v (if the »"y did not read it),
the X7nx could have answered that the X072 of 2°5 W is in a case where somehow they did not read it (and
therefore he can claim X17 2°09 70Ww). Since the X3 did not offer this answer, this proves that it must be read.
> The man who (mistakenly) was given the 12 gave it to the 7wX (thinking that it was a v3), and the woman who
(mistakenly) received the v gave it to her husband (thinking that it is a 72W). In reality however the woman never
received a vi from her husband (he only gave her a 72w, which is meaningless). She is still considered married to
her original husband.
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woman is in possession of the 92w, the rule is that the woman must leave both
her new husband and old husband.® This concludes that 7awn -
— 4a9nY 1Y MY INMD (3,x8 97 mn) T NAY AURNA NYY P91

And the X723 in 7727 w7 P79 infers from the previously mentioned 71wn of mn2s,

where it is a case of ‘what could she have done’ so why is it 71 A X¥n; seemingly

proving that we do not say 72y°1% 7% 717 *Rn -
— NV 9PN N SPIN 2IUM)

And the X ) there answered she should have read the wx before she remarried;
therefore it is not a case of 72yn? 72 M7 X1, This concludes the X3, Now n190In continues with
his question —

— *nwn NN BNY N9YNIN XY 1IN 19999 KY IN RNYD)
But now that we say that the v3 must be read for it to be valid, so if they did not
read the v (as is evidenced by the answer Xv 7pKR? 117 "v2X), then even if the vx
and the 121w were not mixed up (but rather she received the ©3 from her husband),
nevertheless she is not M7 since the v was not read!”

N1B0IN answers:
— NS NY INYI OX 0PN 991 19999 NYT NUSY DNONT 53T 1YY W

And one can say; granted that she is initially forbidden to remarry if the v
was not read by the n"v, nevertheless if she remarried (without the ©3 being
read), she is not required to leave her new husband (provided it is a valid v3) —

mooIn offers an alternate solution: '
— 11991 INNRY IN IMNIPND 7909 9171919 YAINT 1D 12203 N9 *aY 1DV BNN M) ON

Or you may also say; there (by the 7211 ©3) we are discussing a case where after
the 0>y read it,' the 1910 put the 72121 v3 in their (opposite) respective hands, so
we punish her that 711 712 X¥n, for she should have read it again immediately
(to make sure that the proper document was given to each party, or she should
have read it at least after it was given to her (since there were two documents). That is

® If she married someone else after receiving her meaningless 12w, she cannot continue to be with her new
‘husband’ or with her initial husband, since she was 711m (albeit 222w2) while she was an w°& nwX, which makes her
931291 Y¥2% 70K,
7 The X7m there discusses whether under certain circumstances we are lenient with the woman and let her return to
her original husband, if she was not at all at fault, for we say 72v"% 7% M1 °X»; what could she have done!
® This seemingly proves that even if the 3 is not read it is a valid 7w (as long as she received a valid v3).
? See “Thinking it over’ # 1.
9Tt seems that this alternate answer of n2o1n (disagrees with the previous answer and) maintains that if the v} was
never read then even if she remarried the rule is (71121 71) XxN.
" Therefore (as far as the ruling of 7"7 is concerned) it is a valid va.
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why we punish her that 711 7717 X¥n -
— PhynYhm s 959 ANAY NN

Since it resulted in a calamity.
— Paa0INY 19250 59 IND NN ANTD HIY AR XY IN KUY A9ON NN 1710)

However, she is not forbidden to remarry if she did not read it a second time,
as the X7n) states here (regarding the 2°05 7vW), ‘he does not have the authority

to prohibit her from remarrying -
—¥59m 903 ANYP NY TN H¥T 23 Yy 9N

Even though that perforce she did not read it again afterwards.
— NN INNRD NIMN QNP MIPY PN 13939 DN NP

And the 5''1 was accustomed to read the v before it was given and after it was
given -

IYNMNT XYY DIV 937 PHNN INNY ANIPY NINN ONP NARIP ND INT NVIV 11110
Nevertheless, it is obvious that if the ) was not read before it was given, but it
was read after it was given; it is a simple matter that she is divorced.

SUMMARY

The ©3 should be read by the n"v before the 71°n1 (and preferably after the 771°n3),
otherwise she may not remarry (unless it is read after the 71°n1). [If the v was not
read at all there is a dispute whether X¥n nXw1 oX or not.]

THINKING IT OVER

mooIn asks if the Vi is not valid without 7877 then in the case of 721w VA it should
be invalid even if they were not mixed up.'® However, if they were not mixed up,
then it is not 2109, for we can read it now as n1o1n concludes'” shortly!"®

2. Is it preferable to read the va before the 71°n1 or after the mn1?"’

'2 She remarried while she was still an WX nwX.
1t is preferable that she read it a second time (if after it was read it was given to the husband) for this will preclude
her from 71 7T X¥N (in case no v} was given to her), nevertheless if she did not read it again (especially if it was
lost or destroyed), she may remarry, as long as it was read once (before the 71°n1).
" If it was read after the 7201 he cannot claim X7 2°05 0w,
'3 See “Thinking it over’ # 1 & 2 (and »"n3).
'® See footnote # 9.
' See footnote # 15.
18 See 7w o" .
"% See vin M >"9a.
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